[bookmark: _GoBack]Logic Model: 
Purpose: 

	Inputs 
	
	Outputs
	
	Outcomes—Impact

	
	
	Activities
	Participation
	
	Short
	Medium
	Long 

	In order to implement the stated activities, we
will need the following:


	
	In order to ameliorate the stated problem, 
we will implement the following activities:



	The direct results of project activities will be as follows:



	
	Project outputs will lead to the following
changes in how many months/years?




	Project outputs will lead to the following
changes how many years?


	Project outputs will lead to the following
Long-term changes how many years?




	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	



	Assumptions 

	
	Factors


	

	
	



